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Similar matrices

have the same eigenvalues ,
their multiplicities and

the dimensions of eigenvectors
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We will notice that the eigenvectors
with different eigenvalues
are linearly independent .
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C. . Similiar matrices behave similarly
-

Start with a matrix A.

If malP is invertible
then sealeedFEP-couicegabe.ee#TA-PAF'
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Detailed version-of T2..
¥-22 . If B = PAF

'
they 51

•he gets a lineartransformationTa -

- V? →VI. g. by
T÷
TI au isomorphism ,

of vector spaces .

④µ Need es check that if

WE VE then Pv ⇐ he?
-
-

¥@ B@ = > Pv

bat : BLM = PIER
'

PI
= PAI = paid
= 1 . PV

,

Tx is linear ; multi - by amatrix B

⑨ claims that Ty is invertible
This is true since -1,4 u= p*U ,its inverse comes

If'The'7nIEFfp) D



Main consequence ofT2-.

C. 3
.
If A ,8 sithey

tree falling are the same:@
①ceoeraAerislie.pdegyiaesk@eiEFE.EE?
- dd

-If:@ detlef-XI) E delta -⇒

def@→¥7 = .

def [PAF
'
- a IF'T

-
- * at
= Iet [P CA -⇒F

'
]

e- I &

= deff) . Iet CASI) - detect)
= It -XI) det CEE'S

= detect ⇒Is
.

"

detCI7a_H.L2@fdlowsuoDOFEYiiiEigou.s
races ofA&t

are isomorphic, so they have the

same dimension .

i


